MathVine - Pre-Algebra Name

Mean of a Dataset Date Period

Find the mean of each dataset. Round to the nearest tenth.

mean

L 7,10,2,2,5,4

. 3,3,6,6,11,7

. 3,7,5,10,10

.+ 11,10,12,6,10,5

s 2,439 3,3 11

. 7,9,9,8,7,12,2,12,6

. 3,10,9,2,6

. 5,2,10,11,12

o 7,12,11,8,12

o 4,1,10,5,12,6,10,7,8

n10,2,12,9,3,7,11,9,9

= 12,3,5,10,5



MathVine - Pre-Algebra

Mean of a Dataset

Name

Date Period

Find the mean of each dataset. Round to the nearest tenth.

7,10,2,2,5, 4

3,3,6,6,11,7

3,7,5,10,10

11,10,12,6,10,5

2,4,3,9,3,3,11

7,9,9.8,7,12,2,12, 6

3,10,9,2,6

5,2,10,11, 12

7,12,11,8,12

4,1,10,5,12,6,10,7,8

10,2,12,9,3,7,11,9,9

12,3,5,10,5

mean

10
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Solution Steps

"7.10,2,2,5. 4

To find the mean, first add all the numbers together:
7+10+2+24+5+4=30
gaere are six numbers in the list 7, 10, 2, 2, 5 and 4 so we divide by six:

6 =5

The mean of the setis 5

"33.6,611,7

To find the mean, first add all the numbers together:
3+3+6+6+11+4+7=236
ggere are six numbers in the list 3, 3, 6,6, 11 and 7 so we divide by six:

6 =0
The mean of the set is 6

"3.7,5,10, 10

To find the mean, first add all the numbers together:
3+7+5+10+10=35
ggere are five numbers in the list 3, 7, 5, 10 and 10 so we divide by five:

57

The mean of the setis 7

"11,10,12,6,10,5

To find the mean, first add all the numbers together:
114+10+12+64+ 104+ 5 =54

%'Here are six numbers in the list 11, 10, 12, 6, 10 and 5 so we divide by six:

6 =Y
The mean of the set is 9

Period



724,393 3,11

To find the mean, first add all the numbers together:
24+44+3+9+3+3+11=35

ggere are seven numbers in the list 2,4, 3,9, 3, 3 and 11 so we divide by seven:
7 =5

The mean of the setis 5

"7.0,9.87,12,2,12,6

To find the mean, first add all the numbers together:
T+9+94+8+74+124+2+124+6=1T72

}'Bere are nine numbers in the list 7,9,9, 8, 7,12, 2,12 and 6 so we divide by nine:

9 =8

The mean of the set is 8

"3.10,9,2,6

To find the mean, first add all the numbers together:
3+10+9+2+6=30
gaere are five numbers in the list 3,10, 9, 2 and 6 so we divide by five:

5 =6

The mean of the set is 6

"5,2,10,11, 12

To find the mean, first add all the numbers together:
5+2+10+11+12=40

H}ere are five numbers in the list 5, 2, 10, 11 and 12 so we divide by five:

5 =8

The mean of the set is 8

“7.12,11,8,12

To find the mean, first add all the numbers together:
7+124114+8+12=50
%'Bere are five numbers in the list 7,12, 11, 8 and 12 so we divide by five:

?:10

The mean of the set is 10



"4,1,10,5,12,6, 10,7, 8

To find the mean, first add all the numbers together:
44+1+104+5+12+64+10+74+8 =63
ggere are nine numbers in the list 4,1, 10, 5,12, 6, 10, 7 and 8 so we divide by nine:

9 =7

The mean of the setis 7

"10,2,12,9,3,7,11,9,9

To find the mean, first add all the numbers together:
10+24+124+9+3+7+114+9+9=T72

',IT'gere are nine numbers in the list 10,2,12,9,3,7,11,9 and 9 so we divide by nine:
9 =8

The mean of the set is 8

“12,3,5,10,5

To find the mean, first add all the numbers together:
12+3+5+10+5=235
ggere are five numbers in the list 12, 3, 5, 10 and 5 so we divide by five:

5=7

The mean of the setis 7



